Assignment 2

[Thursday, March 14,2024 9:45 PM

3. Firewall Project XT. Using the “complexity weighting” scheme shown in Table 5.2 and
the function point complexity weighted table shown below, estimate the total function _ Complexity Weighting
point count. Assume historical data suggest five function points equal one person a Element Low Average High
month and six people can work on the project. Number of inputs X3+ x4 =
Number of c':utﬂyr's X3+ 7 x %3 _
Complexity Weight Table ng EI fes ; ;3. . = + - X -
Number of inputs 10 Rated complexity low, Number of interfaces X3+ X0+ @ =

Number of outputs 20 Rated complexity average
Number of inquires 10 Rated complexity average
Number of files 30 Rated complexity high
Number of interfaces 50 Rated complexity high

a. What is the estimated project duration?
b. If 20 people are available for the project, what is the estimated project duration?

¢. 1f the project must be completed in six months, how many people will be needed for
the project?

T

H o DF wae}?on/ points =
(|o)(l)+(20)(./)+ (10)(4) +(30)(12) +(59)(15) = ;1q07pumnaw peink

% !140/#/. |P°r/s/.mow+k . l ) L{&M,ovufl/b
5

{ pesple.

2. monLth
[’>> 40%¢ L . = 1.9 mowth

5 20 pgople

C. |WM@M60W./M I _ i
) e

)C _ 43 month

PM Page |



